
Subtracting up to 20 (H - set 2)
CHALLENGE

Name:

Time: Score: /

581) 19− 12 + 13 = 591) 4 + 13− 6 =

582) 4 + 7 + 2 = 592) 20− 12− 7 =

583) 2 + 6 + 8 = 593) 2 + 13 + 4 =

584) 3− 3 + 7 = 594) 2 + 1 + 13 =

585) 15− 3− 6 = 595) 20− 20 + 18 =

586) 17− 17 + 19 = 596) 11 + 0 + 9 =

587) 0 + 3− 3 = 597) 15− 2 + 2 =

588) 7 + 8 + 3 = 598) 18− 9 + 9 =

589) 18− 9 + 4 = 599) 3 + 7− 9 =

590) 9− 4 + 13 = 600) 2 + 0 + 14 =

Mathematics: Subtraction - Level 2 - Horizontal - Set 2 31 © workulum.com

https://www.workulum.com

